
    
      Fig. 1 
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            Bottom panel: annual average intensities of 5–15 MeV n-1 C (red), O (green) and Fe (blue). Top panel: annual average 5–15 MeV n-1 intensity ratios Fe/C (red) and Fe/O (green). The arrow symbols mark the one-count upper limits.

          

    

  
    
      Fig. 4 
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              Annual number of days with Fe/(C+O) > 0.183 (green bars) and the mean annual sunspot number (black curve). The normalizations (light green bars) account for the time SOHO/ERNE has been offline during each year.

            

    

  
    
      Fig. 5 
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              Number a) and proportion b) of days with Fe/(C+O) > 0.183 during the rising and declining phases of solar cycles 23 and 24. The normalizations in a) are similar as in Fig. 4.

            

    

  
    
      Fig. 6 
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              Event-averaged 5–15 MeV n-1 Fe/C ratio versus longitude of the associated flare a), peak X-ray intensity of the associated flare b), speed of the associated CME c), and width of the associated CME d). In each plot, the colors are similar as in Fig. 2. Values with statistical uncertainties higher than 50% have been omitted.
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